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
 is the nominative masculine singular articular present active participle of the verb EIMI, meaning “to be: He who is, or The One who is.”

The article functions as a relative pronoun, translated “He who is.”


The present tense is an aoristic present, which views the state of being as a fact without reference to its progress.


The active voice indicates that the believer produces the action.


The particle is circumstantial.

Then we have the preposition EK plus the ablative of origin/source plus the masculine singular article and noun THEOS, meaning “from the source of God.”  This is followed by the accusative direct object from the neuter plural noun HRĒMA, meaning “the words” plus the possessive genitive from the masculine singular article and noun THEOS, meaning “of God” in the sense of ‘belonging to God’.  Then we have the third person singular present active indicative from the verb AKOUW, which means “to hear.”

The present tense is a gnomic present for an action that is always true.


The active voice indicates that the believer produces the action.


The indicative mood is declarative for a simple statement of fact.

“He who is from the source of God hears the words of God;”
 is the preposition DIA plus the accusative of cause from the neuter singular demonstrative pronoun HOUTOS, meaning “because of this or for this reason.”  Then we have the nominative subject from the second person plural personal pronoun SU, meaning “you,” followed by the negative OUK, meaning “not” plus the second person plural present active indicative from the verb AKOUW, which means “to hear.”

The present tense is a descriptive present for what is now going on.  It is also a static or gnomic present for as long as these men remain unbelievers.


The active voice indicates that these unbelievers produce the action.


The indicative mood is declarative for a simple statement of fact.

There is no direct object “them” in the Greek.  It is implied but not stated.
“for this reason you do not hear,”
 is the causal or explanatory use of the conjunction HOTI, meaning “because.”  Then we have the preposition EK plus the ablative of origin/source plus the masculine singular article and noun THEOS, meaning “from the source of God.”  Finally, we have the negative OUK, meaning “not” plus the second person plural present active indicative from the verb EIMI, meaning “to be: you are.”

The present tense is an aoristic present, which views the state of being as a static fact.


The active voice indicates that these unbelievers produce the state of being not from the source of God.


The indicative mood is declarative for a dogmatic statement of fact.

“because you are not from the source of God.’”
Jn 8:47 corrected translation
“He who is from the source of God hears the words of God; for this reason you do not hear, because you are not from the source of God.’”
Explanation:
1.  “He who is from the source of God hears the words of God;”

a.  Jesus continues by answering His own question (“If I declare the truth, why do you not believe Me?,” which the opponents of Jesus refuse to answer.  Jesus was from the source of God as He has already proclaimed many times in this discourse.  However, the subject of this statement is not Jesus, but the person who believes in Him.  The believer is from the source of God by being regenerated spiritually; that is, by being born again.  The person who is born again is born again from the source of God.  These Jewish unbelievers do not believe Jesus because they are not from the source of God the Father; they are from the source of their father, the devil.

b.  The believer (who has been born from God) hears the words of God.  The word “hear” is not used in the sense of literal hearing, but in the sense of obeying or doing what they have heard.  For example, the person who hears the message of the gospel and believes in Christ has heard the words of God and acted upon them.  The same is true of the believer learning the word of God as it is taught in church.  So Jesus is telling these unbelieving Jews that they are not from the source of God just because they are from the physical source of Abraham.  They have to hear the message of Jesus by acting upon it through faith in Him, in order to be from the source of God.

c.  Compare John’s statement in 1 Jn 4:6, “We are from God; the one who has come to know God [believer] keeps listening to us.  He who is not from God [unbeliever] does not listen to us.  For this reason we have come to know the spirit of truth and the spirit of deception.”


d.  “When His stunned opponents offered no reply, Jesus answered His own question.  The syllogism is clear; the Lord’s logic irrefutable: He who is of God hears the words of God; they did not hear them; therefore they were not of God.”

2.  “for this reason you do not hear, because you are not from the source of God.’”

a.  Jesus continues by explaining the reason why these unbelievers do not hear, listen to, and obey the message of Jesus.  They do not act upon the offer of salvation because they are not from the source of God.  They are not believers, but unbelievers.  And as those who do not believe God, when He speaks, they cannot be from the source of God the Father.

b.  If the person will not listen to God the Son, they will not listen to God the Father.  If the person will not obey the Son, they will not obey the Father.  The unbeliever rejects the offer of eternal life from the Son, because they have no relationship with God the Father.  They are from the source of their father, the devil, and therefore, will not listen to anything the Son of God has to say.  These unbelievers absolutely refuse to believe the reality of the message of the gospel, which the Holy Spirit makes real to them in common grace.  They don’t want to hear the message in the first place, and in the second place, when they do hear the message from Jesus, they reject the message, because they reject Him as being their Messiah.

c.  “Belonging to God is the basis for hearing Him.  To hear God is not a matter of being able to discern audible sounds but of obeying the heavenly commands.  Jesus’ hearers absolute rejection of the heavenly Word was a clear reflection that they did not belong to God.”


d.  “Here, then, is the real reason why these Jews refuse to believe the truth which Jesus declares.  They are not of God and want nothing that comes from God.  This conviction Jesus executes by the calmest, clearest, most deliberate and irrefutable line of reasoning—but one that presents nothing but the undeniable realities themselves.”
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